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Question 1

Which figure completes the statement?
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Rule

The light green shape encloses the other two shapes. The dark green and white shapes switch colours. The
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now dark green shap filps vertically. The arrow moves to the opposite side and switches direction.
Correct Answer: D

Explanation

D is the only figure where the light green shape (the hexagon) encloses the other two shapes in the right

way. Here, the dark green and white shapes switch colours, and the now dark green shape flips vertically.

The arrow moves to the opposite side and switches direction.

medistudents.com 2



